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ASSIGNMENT 1

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2020.

1. (a)

(b)

First Year
ENGLISH PAPER —1

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(11) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution
(3) Wind and water

(4) Placing new demands on the land



2. (a)

(b)

©

(d)

(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences :

(1) The small child does whatever his father was done

(11) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.
Rewrite as directed :

(1) They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)
Change into direct speech :

(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets :

(1) He wants Mary ————— (do) the dishes.
(11) Would you mind ——— (open) the window, please?
(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.



(v) John ——— (watch) TV every night.
(e) Fill in the blanks with suitable words given in the end.

(1) She ——— the job offer.

(11) The dog ran ———— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ——— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
(  Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.

(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma
Gandhi.

(v) He was a lawyer by profession.

(g) Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

(h) Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

(1)  Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.
(11) The downside of smart phones.

(1) Growing number of people shopping online.

3. Write an essay on following :
(a) Justify the little, “A sense of the Future”.
(b) Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
(¢) Summarize the story of “The Topaz Cufflinks Mystery”.
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1. Write short notes on the following :

(a)

Rose”.
(b)
(©
(d)
©)

Write about the comparison of the rose to the lady in the poem “Go Lovely

What is the central theme of “On killing a Tree”?
Summarize the poem, “The Express”.
How is the importance of nature brought out in the poem, “T'ables Turned”?

Justify the title, “Laugh and Be Merry”.

2. Write an essay on the following :

(a)
(b)
()

3. (a)

(b)

Explain the irony in Karel Capale’s, “The Fortune Teller”.
Bring out the appropriateness of the title, “God sees the Truth but waits”.
How is Srijut the victim in “The Gold Watch”?

Explain the following :

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.

(1) ‘T've seen wild cats in trees at night and their eyes shine’.

Explain the following :

(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
(b) Explain the qualities of scholars as described by Noble Vidura.

Rigefel sfrTdienfar afoda steronar Rigoya 2

2.  (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.

AgeTRed] arddt ufdr i aaenfer forzra 2

(b) Explain the help rendered by Rajavahana to Brahmin.
TG (&GSl (A21Gad ?
3. (a) Describe the six seasons as prescribed in the lesson.

UTGIHTSHORICY YEe] Jurad 2

(b) Write the story of intelligent Rabbit.

HRIGR212IS: 3l BT ferzrd 2
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1.  Answer the following with reference to context.

o IR |

(a) T GRATCHIN HISTIoG T |

(b)  sTepIofta Toga: |
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@) T e etz T

(e) oRRATE JEHATERH|

(f)  TFIr: Bt 1§ Yeleiaa faerd |

(@) 3T Profol GIPADCH! TATHI

(h)  govg {3 Jrofret: 7wl
2. Translate into English or Telugu.

STCEITSTRAT AT JTFTHTSII aT 3efdTed |
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(b)  JATcHeN IS eAteafiafian|
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(a)

(b)

()

(d)

SIS HSITON 5R: Ufved SeId ||

Write the forms of in the other numbers of given persons :

TR ETq F/TToT forzra|

(@)  oaf (i) oI
(iii) forsgey (v) g
(v) @ (vi) 3mGa
(vii) dogd (viii) 31|
Decline as per the case ending.
TATGHITRY 2TeGRITIOT ferard|

Q) I (i) @
(iii) el Gv) foaf
(v) ordl (vi) AR
(vii) Afar: (viii) oT&|

Combine Sandhis.
Ao |

(i) Y+ IE
(i) ©Tq + 3T
(v) ddq+d

(vii) §C + 7T
Dissolve.

faergaraenfer forzral
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(v) 3rept:

(vil) JDYSITE:

(i) g + 3I&:
(v) al+ 3/
(vi) T + et
(viii) 3 + 3Fect: |

(i) Ydem:
(iv) TR
(vi) ~stelicTe
(viii) TLOTH
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ASSIGNMENT 1
B.A./B.Sc. DEGREE EXAMINATIONS, DECEMBER 2020.
First Year
Mathematics
Paper I — Diff. Equ., Abs. Alg & Vec. Calculus

(Common for B.A / B.Sc.)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Solve differential equation ydx + logxdx — xdy = 0.
ydx + logxdx — xdy = 0 &0 FBod0&.

Solve y% — xyp — x?p? = 0.
y? —xyp — x%p? = 0 L0 >oSok.

Solve (D? — D + 1)y = sin 2x.
(D? =D + 1)y = sin2x & dBoS0é.

Solve Dx — Dy = t, Dx — Dy = t?
Dx — Dy =t, Dx — Dy = t2 20 doS0é&.

If G is a group and H is a subgroup of index 2 in G, then show that H is a normal subgroup of
G.

G 3307030, 30708 8o EDRNY édsuearo, H @088 G G308, @O0 GHVBITEICE08
J°H06.

Show that a field has no proper ideals.
808 HE &Sy BY @ HrSod.



ASSIGNMENT 2
B.A./B.Sc. DEGREE EXAMINATIONS, DECEMBER 2020.
First Year
Mathematics
Paper I — Diff. Equ., Abs. Alg & Vec. Calculus

(Common for B.A / B.Sc.)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(DBMAT 11)

1. Ifr =e'(ccos2t +d Sin 2t), where ¢ and d are constants vectors then show that L — 2 —

5r =0.

r = ef(ccos 2t + d Sin 2t) woa)é d’r

2. Finddiv f and curl f if f = grad (x3 +y3 + 23 — 3xyz).
f =grad (x* +y° + 2% — 3xyz) @a0d div f 08050 curl f DevdOD L3087 0d.

3. (a)
(b)

4 (a)
(b)

(@)

(i1)

(@)

(i1)

(i1)

d
Solve cos? xd—z +y=tanx
d
cos? xé + y = tan x L DBoSo&.

Solve (D? — 4)y = xsin hx.
(D? — 4)y = xsin hx X0 >BoS0&.

Solve (y —px)(p—1) =p
(y—px)(p—1) = p 0 >Bosok.

Solve y" + 4y = cosx cos 3x
y" + 4y = cos x cos 3x 0 JoB0k.

Solve the D.E. y" + 3y’ + 2y = 12¢*
y" +3y' + 2y = 12e* 0 3oIok.

Solvex +4x +2y—e

2L y+4xdy+2y—ex 2 DBoB0k.

Solve the system of equations.

1808 JBYD B0

dx

prl 5cost——2x+y

dt2

2 — + 57 = 0 e S3°306. 38, ¢ DB d ?(5)6 PSTAL IO



(a)

(b)

(a)

(b)

(@)

(i1)

(@)

(i1)

In a group G fora,be G, 0(a) =5, b # e and aba™! = b?. Find 0(b).
28 330075730 G &° a,b € G, 0(a) =5, b # e, aba™! = b? @od 0(b). D EW5°,08.
If f:G > G define f(x) =1 if x>0 and f(x) =—1 if x <0, where G is set of

nonzero real numbers and G = {1,—1} are groups. Prove that f is homomorphism
and find kernel.

G Wd@s 59 Sopg I G = {1,-1} G,G ID IWreo, f:6 - G,
A0S0 f() =1 x> 0,f(x) =—1x>0 o NOIEB, 68 2.8 SI0ET°IS &
S908. TR B8)S S8, 08

Define group.
X);&D"’KJGX)& Désﬁobo&.

State and prove fundamental theorem on homomorphism of groups.
RDBTPHE® HoTeTEen $3°DE ?ow(;oe‘éaﬁ.)om (9590 AETD0B50E.

State and prove Gauss divergence theorem.

R @588 DERodswn (H:3D0D dsTHosos.

(@)

(i1)

Find the directional derivative of the function f = x2? —y%+ 2z2 at the point
p(1,2,3,) in the direction of the line PQ where Q = (5,0,4).

f=x*—y*+2z% S0 3& p(1,23,) & Do 8z Bpe How & PQ ,
Q = (5,0,4) B BBE Iy SRR DS,

Evaluate by Green's theorem in the plane for[(3x%? —8y?)dx + (4y — 6xy)dy
where C is the region bounded by y = vx and y = x2.

[(3x2 — 8y2)dx + (4y — 6xy)dy S8aH J5rged08’ C e SFo y=vx DBakw
y = x* o8, (RS drposo mreoe Dendid SRR"MOG.




(DECO 1)
ASSIGNMENT 1

B.A. DEGREE EXAMINATION, DECEMBER 2020.
First Year
Economics

Paper I — ECONOMIC THEORY
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Define Micro Economics and Macro Economics and state their importance.

B0°gy ©EBPR0 SoBakw B 8T DE@DOD LB T DSBS DE7S080.

State the law of demand with its exceptions.
GST08 B EPR), TPR QIITFON0NHOE” B HE, B8,

Explain the classical theory of income and employment.
RPORHEODH TYIBO B3oraDh &&'RE TR, DSBOYSW.

How is the equilibrium price determined under monopoly?

DEFS0E” BT O GG 2 DEOTT DPAVOBIEE?

Explain consumers equilibrium with the help of indifference curves.

GEPOIT S50 STAHOE” DRBITEER SS50F erg), D3B0S30E.

Critically examine the law of variable proportions.

ST OFTO AT (TR DGTESOTT DS3B0)SW.

Explain the equilibrium price and output determination under perfect competition.

P0G 263 3735 DT 05 (56 LB &Y YR, HBD DSBoBOE.

Write about Keynes consumption function.

35“) 3308, DA Ho HBoD [raDols.



(DECO 1)
ASSIGNMENT 2

B.A. DEGREE EXAMINATION, DECEMBER 2020.
First Year
Economics

Paper I — ECONOMIC THEORY
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

. Define inflation and explain consequences and control measures of Inflation.

BS0erR), DEDOD B0k (B @i Doerarer SBaty RIS SEeo 80D
D3BoSos.

What is National Income? Explain the measurement methods of National Income.

PO AT OK3D €95 DO ? &D@Oﬁ?@oojm)cl 9D 5GB00 D3BoBo.

Total utility, marginal utility.

Q0O [HA3TeS0, &0 (HO3re3d0.

Marginal productivity theory.
&R0 GTSET® DETOBS.

Oligopoly.

DBROBRRS50.

Credit Creation by Commercial Banks.
e3es; 20500 JEHE .

Demand Pull Inflation.

G370 (288 155 @e90.

Law of supply.

B0l doe(go.
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ASSIGNMENT 1

B.A./B.Sc. DEGREE EXAMINATIONS, DECEMBER 2020.
First Year
Statistics

Paper I - PROBABILITY AND DISTRIBUTIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

mean interms of moments about any point.

(b)

(a)

(b)

(a)

(b)

08GEBN Dod Hr85w P Doy Wod B’ HEfie BowoREILD
Find the standard deviation of the following distribution.

Age 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
No. of Persons| 170 110 80 45 40 35

8085 aDY DeTesi90 $06 (550 DFODZ0D EF"R.
5000y | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
sgse o] 170 | 110 | 80 | 45 | 40 | 35

State and prove multiplication theorem of probability for n elements.
n 07°e57e, Sogrdgee oY ?ogsoeé;ﬁ.nséo (K999, AEICD0WE0.

If A, B and C are random events in a sample space and if A, B and C are pairwise
independent and A is independent of (BUC), then prove that A, B and C are mutually
independent.

A, B, C o0 5&85°9 3985965 o:iﬁéq)ﬁaé 000 odHED A, B, C ev es¢or8 éséoL@w
SoBaiw A 060 (BUC) & BOBIOSINE A B, Cen DB0Y JgGo@ren e DBICDOH0.

State and prove Baye's theorem.
BoSrR AETOBZND D8, AETDOBZ0.

The composition of balls in three Urns is as follows.

White | Black
Urn I 7 3
Urn 11 4 6
Urn II1 2 8

These Urns are selected with probabilities 0.2, 0.6 and 0.2 respectively. One Urn
selected at random and two balls are drawn from it. If both the balls are white, find the
probability that they came from the third Urn.

S0 oS’ wosen H8o8 Dore Y.



(a)

(b)

BV | DOV
S 7 3
oo 11 4 6
8 I 9 8

& o8 am&?m éoep“éﬁesé?éo SBJ 0.2, 0.6 8o 0.2. a8 s oiiﬁéq)xi)aéon“
03263&?(‘0 T°D 006 Bo 20O HHTK. Both DOV moeﬁo@@ 09 BN o ok
o°Heed8 Bogrig® Hod?

Define Distribution function. Explain the properties of distribution function.
Deresd FR00DBVKD X)ési)o@aﬁ.n. €3 By, (}Scf’&e)m DHBoHH.

A random variable X has the following probability function.

X=x |o0]1]2[3[4[5] 6 7
PX=x)| 0| k|2k|2k|3k| k2| 2k?| 7k +k
() Find K,

(11) Evaluate P(x <6), P(x >6) and P(0 < x <5).
8 otiﬁéq)ﬁaé Seoe3d X §, 5808 boepf’aﬁeseé (SoHB0 Eod.

X=x |o|1]2[3]45] 6 7
P(X=x)| 0| k|2k|2k|3k| k2| 2k?| 7k +k

() KB, Jensso Eofism.

() P(x<6), P(x>6) 50800 P(0 < x <5) G, L0500 SRS



1. (a)

function.
(b)
2. (a)
(b)
3. (a)
(b)
4.  (a)
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B.A./B.Sc. DEGREE EXAMINATIONS, DECEMBER 2020.
First Year
Statistics

Paper I - PROBABILITY AND DISTRIBUTIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Define mathematical expectation of a random variable. Explain cumulant Generating

otiI"CSQQDé BT3B, Ke3BODH e9¥0B% QBOPH0. é)?seﬁ.D@oeS GTH0S [SoHB0
DHB0D0.

State and prove Cauchy — Schwartz inequality.
S, §,, BISTRHES ($HV0D, DETDODIW.

Obtain the cumulant generating function of negative binomial distribution. Hence
determine its mean and variance.

ame’reééé (3&’)&5 QPRI ABE); é)esméoes éo@”o)csé Lbﬁ)otbm:éo U°zoeé§, T ABE); e
So8o Y Q)aa SR 000.

Define geometric distribution show how this distribution has lacks of memory.
8“531)@02’1) T2 X)ési)o@m. 88 rBIH0IL  epHE G“ir’éeséwe)o NI &
DHBoS0k.

Define Poisson distribution. Show that the Poisson distribution approximation to
Binomial distribution.
0D DgPeBHR DEGIOIHH0. P0NE°D TEBIZVKD GETONOYTT BEHE DgTasBome

AET*D0DHS0.

Define Hyper geometric distribution. Find its mean and variance.
;1_7";’)5 &"?Sil)@oib DgT°e3IB00D 3.)65{’.)01‘1), TR G, ©OEEEH[0, DY YEOD E0R° K000,

Define Gamma distribution. Obtain its moment generating function and hence find its
mean and variance.
TP 2IPe3r 000 X)dsi)o@m. T ABwE), w@gswa)éa" [{)3)05?&)& U°2oeéf;> °Q o°o° Ss

DeTeI)) WO 0G0 08aso Y JEOOD SR"0H80.



(b)

(a)

(b)

(0

(d)

(e)

(®

(8

(h)

0)

In a normal distribution 31% of the items are under 45 and 8% are over 64. Find the
mean and standard deviation. (Given P(0 < Z < 0.5) =0.19, P(0<Z < 1.4) =0.42)
Ay DeredINST) 31% ey 45 &Y So) DBA 8% 000y 64 508 &I Ko

@vsﬁr"b?s QBID  ABWE); @oéméessﬁosﬁ.n 0BOIN (B0 AWIOII0O BRI,
P(0<Z <0.5)=0.19, P(0<Z<14)=042)

Describe any two measures of dispersion.
DIBEs BooE), DD Botd T OB DBSBOHBW.

Distinguish between A.M., G.M., H.M.
AM., GM., HM. o ‘oﬁ)qﬁé D588 DNDBOH30.

Define discrete random variable and state its properties.
&)1‘1)1326& otiﬁéq)ﬁaé $00°3 36530@;3.» S08ai0 @ @), (}50"&&)?&) Be00.

Explain coefficients of skewness.
OJHB° HEEZVOD DHBowBM0.

Axiomatic definition of probability.
Q0grdge ¥, %)‘Sée)eé ABIIDBNOR BOOPN0.

Find the mean and variance of Bernoulli distribution.
286° &@ Dgrresddon GRE); @oém(‘p?s;i);ﬁ.n 08asn I Q)@e)?éo E0R°0S0.

Mention the properties of Normal distribution.
ATy Deesidan oY), GHBO HE" KB,

Reproductive property of normal distribution.
@v‘oﬁr"?&é Dgrresddo G3ooE); Y.g)?ééoeéo)@ (}56&5.1).

Define Beta distribution of 1%t kind.
Boocsed 5559 Ded Dgrress008 DEDOHB.

Characteristic function of Cauchy distribution.
5o DPasdtos AR, eEedY [HdaR00.



